

City of San Antonio  
Draft Bid Tabulation

Opened:	October 1, 2025		
For:	Annual Contract for Glass Maintenance & Replacement (Citywide)		
6100019224		SG	
Item	Description	Estimated Annual Quantity	
1	Single strength glass, clear Price Per Sq Ft Total Price	20	\$8.05 \$161.00
2	Double strength glass, all colors Price Per Sq Ft Total Price	55	\$8.55 \$470.25
3	Triple strength glass, clear Price Per Sq Ft Total Price	10	\$10.88 \$108.80
4	Plate glass, clear, 1/4" thick, all colors Price Per Sq Ft Total Price	100	\$15.69 \$1,569.00
5	Plate glass, 1/4", green, grey, clear or bronze tint Price Per Sq Ft Total Price	100	\$15.69 \$1,569.00
6	Laminated Glass, 1/4", Green tint, minimum .030 PVB Price Per Sq Ft Total Price	50	\$21.33 \$1,066.50
7	Laminated Glass, 1/4", Grey tint, minimum .030 PVB Price Per Sq Ft Total Price	50	\$21.33 \$1,066.50
8	Laminated Glass, 1/4", Clear tint, minimum .030 PVB Price Per Sq Ft Total Price	50	\$19.95 \$997.50
9	Laminated Glass, 1/4", Bronze tint, minimum .030 PVB Price Per Sq Ft Total Price	50	\$21.33 \$1,066.50
10	Tempered glass, 3/16" thickness, clear Minimum Square Foot: <u>3</u> Price Per Sq Ft Total Price	450	\$10.88 \$4,896.00
11	Tempered glass, 1/4" thickness, clear Minimum Square Foot: <u>3</u> Price Per Sq Ft Total Price	450	\$10.88 \$4,896.00

City of San Antonio  
Draft Bid Tabulation

Opened:	October 1, 2025		
For:	Annual Contract for Glass Maintenance & Replacement (Citywide)		Samuels Glass Company, LLC 3011 NE LOOP 410 SUITE 120 San Antonio, TX 78215
6100019224		SG	
Item	Description	Estimated Annual Quantity	
12	Tempered glass, 3/16" thickness, grey or bronze tint Minimum Square Foot: <u>3</u> Price Per Sq Ft Total Price	1,200	\$16.22 \$19,464.00
13	Tempered glass, 1/4" thickness, grey or bronze tint Minimum Square Foot: <u>3</u> Price Per Sq Ft Total Price	1,200	\$16.22 \$19,464.00
14	Polished Wire, 1/4" thickness, Diamond or Baroque Pattern Price Per Sq Ft Total Price	30	\$65.45 \$1,963.50
15	Clear Mirror, 1/4" thickness Price Per Sq Ft Total Price	1,000	\$16.45 \$16,450.00
16	Plastic (Plexiglas), 1/8" thickness, clear Price Per Sq Ft Total Price	100	\$11.60 \$1,160.00
17	Plastic (Plexiglas), 1/4" thickness, clear Price Per Sq Ft Total Price	75	\$20.23 \$1,517.25
18	Plastic, Mirror finish, 1/8" thickness Price Per Sq Ft Total Price	50	\$24.95 \$1,247.50
19	Polished Edge, (When requested by customer), 1/4" Glass Price Per Linear Inch Total Price	50	\$0.50 \$25.00
20	Aluminum Mullions, colors clear and dark bronze Price Per Linear Ft Total Price	500	\$22.50 \$11,250.00
21	Aluminum Brake Metal .040 gauge clear and dark bronze Price Per Sq Ft Total Price	170	\$13.59 \$2,310.30

City of San Antonio  
Draft Bid Tabulation

Opened:	October 1, 2025		
For:	Annual Contract for Glass Maintenance & Replacement (Citywide)		
6100019224		SG	
Item	Description	Estimated Annual Quantity	
22	Aluminum Brake Metal .050 gauge clear and dark bronze Price Per Sq Ft Total Price	170	\$15.29 \$2,599.30
23	Aluminum Brake Metal .063 gauge clear and dark bronze Price Per Sq Ft Total Price	170	\$20.24 \$3,440.80
24	Re-Glazing, colors but not limited to white, gray, light gray, dark gray, black, bronze, light bronze, silver, etc. Price Per Linear Ft Total Price	1,000	\$4.51 \$4,510.00
25	Frosted (etched) glass Price Per Sq Ft Total Price	200	\$36.18 \$7,236.00
26	Wet Sealing Price Per Sq Ft Total Price	1,000	\$12.00 \$12,000.00
27	Safety Backing Price Per Sq Ft Total Price	410	\$4.24 \$1,738.40
28	Clear Beveled Mirror 1/4" Price Per Sq Ft Total Price	1,505	\$24.00 \$36,120.00
29	Bronze Glass 1/4", plate glass only Price Per Sq Ft Total Price	15	\$15.69 \$235.35
30	Polish Straight 1/4" 2W x 2L Price Per Linear Inch Total Price	1,200	\$0.50 \$600.00
31	Laminate cut size, clear 1/4" Price Per Sq Ft Total Price	5	\$19.95 \$99.75
32	Glass clear 3/16", plate glass only Price Per Sq Ft Total Price	5	\$11.55 \$57.75

City of San Antonio  
Draft Bid Tabulation

Opened:	October 1, 2025		
For:	Annual Contract for Glass Maintenance & Replacement (Citywide)		
6100019224		SG	
Item	Description	Estimated Annual Quantity	
33	Labor charge per hour per worker for installation job/board-up services during regular hours: Minimum hours per worker job  Price Per Hr Total Price	50	\$80.00 \$4,000.00
34	Labor charge per hour per worker for installation job/board-up services after 4:31pm – 7:44am, Monday through Friday Minimum hours per worker job Price Per Hr Total Price	50	\$160.00 \$8,000.00
35	Labor charge per hour per worker for installation job/board-up services on Saturdays, Sundays & holidays Minimum hours per worker job  Price Per Hr Total Price	40	\$160.00 \$6,400.00
36	Lift equipment charge and scaffolding (if required) per job, up to 60' lift (minimum per day)  Price Each Total Price	5	\$1,346.00 \$6,730.00
37	Anti-Graffiti Film 4 mil Price Per Sq Ft Total Price	1,000	\$7.84 \$7,840.00
38	Anti-Graffiti Film 6 mil Price Per Sq Ft Total Price	5,000	\$8.63 \$43,150.00
39	Security Film 8 mil Price Per Sq Ft Total Price	50	\$13.20 \$660.00
40	Security Film 13 mil Price Per Sq Ft Total Price	10	\$18.15 \$181.50
41	Security Film 15 mil Price Per Sq Ft Total Price	10	\$23.10 \$231.00

City of San Antonio  
Draft Bid Tabulation

Opened:	October 1, 2025		
For:	Annual Contract for Glass Maintenance & Replacement (Citywide)		Samuels Glass Company, LLC 3011 NE LOOP 410 SUITE 120 San Antonio, TX 78215
6100019224		SG	
Item	Description	Estimated Annual Quantity	
42	Miscellaneous specialty glass, not listed herein: Parts Markup: Percentage over Contractor's Cost	AS NEEDED	65%
43	Miscellaneous specialty glass related adhesives and fasteners, not listed herein: Parts Markup: Percentage over Contractor's Cost	AS NEEDED	65%
44	Miscellaneous specialty window tint, not listed herein: Parts Markup: Percentage over Contractor's Cost	AS NEEDED	50%
45	Certified Barricade Services  Payment Terms  Workmanship warranty (installation)	AS NEEDED	50%  Net 30  1 Year